## 2024 USEA Intercollegiate Eventing Championship at Stable View Aiken

Aiken, SC May 4-5, 2024

USEA ID#: 18454

iviay 4-3, 2024		UJLA	10#. 10434	•							
2024 USEA Intercollegiate	e Cham	pionsh	ips								
AUBURN UNIVERSITY WAR EAG			<u>.                                      </u>								75.029 1
Roberts, Lara Fernhill Show Biz 6	ON-A	Drsg 1	21.100	XC 🐧	0.0	0.0	Stad 0	0.0	0.0 1 21.10	0.95 20.045	
Wathen, Hayden	OI	Drsg 🐧	31.600	Stad 0	0.0	0.0	XC 🐧	0.0	0.0 31.60	0.75 23.700	
Contestor • Hand, Sophia	OBN-B	Drsg 6	31.600	XC 🗓	0.0	0.0	Stad 6	0.0	0.0 31.60	0.99 31.284	
Fernhill The Wild Card <sup>1</sup> Backel, Alayna	OBN-B	Drsg 6	35.000	XC 🐧	0.0	0.0	Stad 6	0.0	0.0 35.00	0.99 34.650	
Lakota 🐧											
UNIV. OF KENTUCKY BIG BLUE Quirk, Natasha	ОТ	Drsg 6	26.400	Stad 0	0.0	0.0	XC 🐧	0.0	0.0 26.40	0.90 23.760	75.549 2
First Class 6											
Mendes, Katie  McCreary  1	BNR-A	Drsg 0	24.100	XC 🐧	0.0	0.0	Stad 0	0.0	0.0 1 24.10	0.99 23.859	
Roy, Alyson Fire for Effect 1	NR-D	Drsg 1	29.400	XC 🐧	0.0	0.0	Stad 0	0.0	0.0 1 29.40	0.95 27.930	
Bickerstaff, Kate  Just Like Ike	BNR-B	Drsg 🐧	31.900	XC 🐧	RF 🔨	RF	Stad 🔨			0.99 1000.000	
VIRGINIA TECH HOKIE HUSTLEF	RS										78.930 3
Newman, Jillian	MR	Drsg 6	25.500	Stad 🤨	0.0	0.0	XC 🐧	0.0	0.0 25.50	0.85 21.675	
Curraghgraigue freeman 6 Whitten, Mandolin	ОМ	Drsg 6	32.100	Stad 6	0.0	0.0	XC 🐧	0.0	0.0 32.10	0.85 27.285	
Bossanova Schild, Rose	TR-B	Drsg 6	33.300	Stad 0	0.0	0.0	XC 🐧	0.0	0.0 33.30	0.90 29.970	
Acording to Morgan  Oldenburg, Emma	NR-C	Drsg 6	36.700	XC 🐧	0.0	0.8	Stad 6	0.0	0 0 0 37 50	0.95 35.625	
Theoretical 6	1411-0	Diag	30.700	7.0 -	0.0	0.0	Otad	0.0	0.0 - 37.50	0.33 33.023	
AUBURN UNIVERSITY TIGERS Hillhouse, Suzanne	NR-B	Drsg 6	31.400	XC 🐧	0.0	0.0	Stad 0	0.0	0.0 1 31.40	0.95 29.830	93.177 4
Severance Pay 6											
Montgomery, Grace Fernhill Wonder 1	ON-A	Drsg 0	32.500	XC 🐧	0.0	0.0	Stad <sup>1</sup>	0.0	0.0 32.50	0.95 30.875	
Brennan, Jack Paladin <sup>1</sup>	BNR-B	Drsg 1	32.800	XC 🐧	0.0	0.0	Stad 0	0.0	0.0 32.80	0.99 32.472	
Midgley, Katarina Ditch 6	ОТ	Drsg 🐧	32.600	Stad <sup>1</sup>	16.0 🐧	11.6 🤨	XC 🐧	R 🔨	R	0.90 1000.000	
USC-AIKEN RED											93.753 5
Brady-Owen, Sophia  Maggie May   1	START-D	Drsg 6	19.000	Stad 0	8.0 🐧	0.0	XC 🐧	0.0	0.0 27.00	1.00 27.000	
Shinn, Sydney	ОТ	Drsg 6	30.500	Stad 6	0.0	0.0	XC 🐧	0.0	0.0 30.50	0.90 27.450	
Sunshine and Whiskey <sup>1</sup> Ingraham, Kaitlyn	BNR-B	Drsg 6	39.700	XC 🛈	0.0	0.0	Stad 0	0.0	0.0 39.70	0.99 39.303	
Trump Card 6											93.795 6
UNIV. OF KENTUCKY WILDCATS  Hale, Macy	ON-A	Drsg 6	30.000	XC 6	0.0	0.0	Stad 6	0.0	0.0 30.00	0.95 28.500	93.793 0
Dr. Hart   Hsue, Madyson	ОТ	Drsg 6	35.500	Stad 6	0.0	0.0	XC 🐧	0.0	0.0 35.50	0.90 31.950	
ISO Cambria 6		_									
Englund, Callia Mr Opportunity 1	ON-A	Drsg 0	33.100	XC 🐧	0.0	2.0	Stad 6	0.0	0.0 35.10	0.95 33.345	
Northup, Danielle Wild Mission 6	START-B	Drsg 6	38.000	Stad 0	0.0	0.0	XC 🐧	0.0	0.0 38.00	1.00 38.000	
USC-AIKEN PACER PRIDE											95.725 7
Langenberg, Carson Monterrey la Silla 1	MR	Drsg 6	34.300	Stad 0	0.0	0.0	XC 🐧	0.0	0.0 34.30	0.85 29.155	
Shinn, Sydney	OI	Drsg 6	34.800	Stad 6	0.0	0.0	XC 🐧	0.0	9.2 44.00	0.75 33.000	
HSH Crypto  Gyselinck, Heidi	TR-B	Drsg 6	33.300	Stad 6	4.0 🐧	0.0	XC 🐧	0.0	0.0 37.30	0.90 33.570	
Bricktop JHF <sup>1</sup> Norton, Wesley Anne	NR-B	Drsa 6	36.900	XC 🐧	0.0	0.0	Stad 6	0.0	0.0 1 36.90	0.95 35.055	
Longden 6											
AUBURN UNIVERSITY AUBIE  Lassere, Erin	NR-C	Drsg 6	33 300	XC 🐧	0.0	0.0	Stad 6	0.0	0 0 1 33 30	0.95 31.635	101.285 8
Foxtrot Todd 6		_									
Seabrook, Sophie FGF Tale Of The Kitten   1	MR	Drsg 6		Stad 6	4.0 1	0.0	XC 0	0.0	0.0 38.80	0.85 32.980	
Parker, Reese Tough Poppa <sup>1</sup>	NR-D	Drsg 6	38.600	XC 🐧	0.0	0.0	Stad <sup>1</sup>	0.0	0.0 38.60	0.95 36.670	
Roberts, Lara Chesterfield Willpower	ОТ	Drsg 6	34.800	Stad 0	8.0 🐧	0.0	XC 🐧	0.0	0.0 42.80	0.90 38.520	
LINIV OF GEORGIA SPIKE SOLIA	ID.										104 692 9

UNIV. OF OLUNOIA SEINE SQUA	ער											104.032 3
Parker, Katlyn	MR	Drsg 6	26.200	Stad 6	8.0 🐧	0.0	XC 🐧	0.0	0.0	34.20	0.85 29.070	
Bankers Mark <sup>1</sup> Lane, Ella Kay	ON-A	Drsg 6	35.000	XC 😉	0.0	0.0	Stad 6	0.0	0.0	<b>3</b> 5.00	0.95 33.250	
Dark Shadow's 6 Richards, Brooke	BNR-B	Drsg 6	42.800	XC 🐧	0.0	0.0	Stad 6	0.0	0.0	<b>1</b> 42.80	0.99 42.372	
FGF Boundtobespecial 1	DINK-D	Disg	42.000	λο •	0.0	0.0	Stau	0.0	0.0	42.00	0.33 42.312	
RANDOLPH-MACON BLACK		- A										106.470 10
McGowan, Abigail Mystic Serenade 1	TR-B	Drsg 🐧	34.500	Stad 6	4.0 🐧	0.0	XC 🐧	0.0	0.0	38.50	0.90 34.650	
Leff, Lucy Wellsprings Cool Guy 1	NR-D	Drsg 🐧	33.300	XC 🐧	0.0	0.0	Stad 6	4.0 🐧	0.0	<b>3</b> 7.30	0.95 35.435	
Carey, Allison Sea Zar Run 1	NR-B	Drsg 🐧	38.300	XC 🐧	0.0	0.0	Stad 🟮	0.0	0.0	38.30	0.95 36.385	
Nelson, Lucy	TR-B	Drsg 🐧	36.000	Stad 0	4.0 🐧	0.0	XC 🐧	20.0 🐧	0.0	60.00	0.90 54.000	
Bo Jango  SEWANEE: UNIV. OF THE SOUT	Ц											108.698 11
Ranson, Georgia	START-B	Drsg 6	28.300	Stad 6	0.0	0.0	XC 🙃	0.0	0.0	28.30	1.00 28.300	100.090 11
Brambleridge Capability Brown  Shinn, Sydney	OBN-B	Drsg 6	34.700	XC 🐧	0.0	0.0	Stad 6	4.0 🐧	0.0	<b>3</b> 8.70	0.99 38.313	
Piece Of Cake 1												
Kirtley, Caroline Nick's Luck	NR-E	Drsg 6	40.300	XC 🐧	0.0	0.0	Stad 6	4.0 🗓	0.0	<b>1</b> 44.30	0.95 42.085	
Sugarman, Sissy Carmani	OI	Drsg 🐧	45.200	Stad 0	4.0 🐧	0.4 🐧	XC 🐧	E 🙃	Е		0.75 1000.000	
JAMES MADISON / PITTSBURGH	<del></del>											109.534 12
Razzi, Gabby	TR-C	Drsg 6	37.400	Stad 6	0.0	0.0	XC 🙃	0.0	0.0	37.40	0.90 33.660	100.00112
Effigy 1  Jefferson, Olivia	PR	Drsg 6	40.200	Stad 6	4.0 🐧	0.0	XC 🐧	0.0	0.4	44.60	0.80 35.680	
FGF Flannery 6	DND D	_									0.00 40.404	
Ryan, Eliza Made You Look Twice   1	BNR-B	Drsg 1	40.600	XC 🐧	0.0	0.0	Stad <sup>1</sup>	0.0	0.0	40.60	0.99 40.194	
Bell, Elise FAE Salty Dog 1	NR-C	Drsg 🐧	30.000	XC 🐧	80.0	6.4	Stad 🟮	4.0 🐧	0.0	120.40	0.95 114.380	
Clemson University												111.541 13
Choate, Elle	OBN-A	Drsg 🐧	35.900	XC 🐧	0.0	0.0	Stad 6	0.0	0.0	35.90	0.99 35.541	
Kilbunny Sangria  Speed, Grace	NR-D	Drsg 6	37.500	XC 6	0.0	0.0	Stad 6	0.0	0.0	37.50	0.95 35.625	
Stormin Truth  Welles, Bella	NR-D	Drsg 0	29.700	XC 🐧	0.0	12.8	Stad 6	0.0	0.0	<b>1</b> 42.50	0.95 40.375	
My Man Jack 1		_						0.0	0.0	42.50		
Jefferson, Rianna Topaz 1	BNR-A	Drsg 🐧	24.700	XC 🐧	TE 🐧	TE	Stad 0				0.99 1000.000	
UNIV. OF KENTUCKY STATE STR	REET											113.642 14
Presel, Rian Reddy Freddy   1	TR-B	Drsg 6	34.800	Stad 0	0.0	0.0	XC 🐧	0.0	0.0	34.80	0.90 31.320	
Handy, Devin	ON-A	Drsg 🐧	35.800	XC 🐧	0.0	0.0	Stad 6	0.0	0.0	35.80	0.95 34.010	
Forgotten Lore  Aksoy, Tess	BNR-B	Drsg 1	48.800	XC 🐧	0.0	0.0	Stad 1	0.0	0.0	<b>1</b> 48.80	0.99 48.312	
DeeDee 6	ND 0			XC 🐧	20.0 🐧	0.0	Stad 6	0.0			0.95 52.535	
Sanchez, Elliana Chronicles of Jabez 1	NR-C	Drsg 🔨	35.300	XC •	20.0	0.0	Stad	0.0	0.0	55.30	0.95 52.535	
CLEMSON / VIRGINIA TECH										_		113.661 15
Newman, Jillian Sunhill Rover <sup>1</sup>	OBN-B	Drsg 🐧	24.400	XC 🐧	0.0	0.0	Stad <sup>1</sup>	0.0	0.0	24.40	0.99 24.156	
Honeycutt, McKenna	START-C	Drsg 🐧	36.000	Stad 6	8.0 🐧	0.0	XC 🙃	0.0	0.0	44.00	1.00 44.000	
Foxy • Whitten, Mandolin	ON-A	Drsg 🐧	43.900	XC 🐧	0.0	0.0	Stad <sup>1</sup>	4.0 🐧	0.0	<b>1</b> 47.90	0.95 45.505	
Golden Answer  Schneider, Kate	BNR-B	Drsg 6	48 100	XC 🐧	E <b>0</b>	Е	Stad 6				0.99 1000.000	
WL Lipstick Taser 1	DINK-D	Disg	40.100	λο •			Stati				0.99 1000.000	
AUBURN UNIVERSITY ORANGE												118.485 16
Whitehouse, Ansley  Dynamic Knight	NR-D	Drsg 🔨	31.100	XC 🐧	0.0	0.4	Stad 6	0.0	0.0	31.50	0.95 29.925	
Costello, Ashley	TR-B	Drsg 🐧	30.500	Stad 0	8.0 🐧	0.0	XC 🙃	0.0	0.0	38.50	0.90 34.650	
Bourbon Flight <sup>1</sup> Walter, Reagan	TR-B	Drsg 🐧	31.900	Stad 6	4.0 🐧	0.0	XC 🐧	20.0	4.0	59.90	0.90 53.910	
Ideal Design  Potts, Emma Lynn	BNR-B	Drsg 6	39 400	XC 🐧	20.0 🐧	0.0	Stad 6	4.0 🙃	0.0	63.40	0.99 62.766	
Go For Broke 1	DIVIC-D	Disg	33.400	χο •	20.0	0.0	Otau •	4.0	0.0	05.40	0.55 02.700	
NC STATE / OTTERBEIN							_			A		123.702 17
Suhodolsky, Meaghan Absaluut Annabelle 1	BNR-A	Drsg 🐧	36.300	XC 🐧	0.0	0.0	Stad <sup>1</sup>	0.0	0.0	36.30	0.99 35.937	
Dal Cin, Lily	OM	Drsg 🐧	39.800	Stad 0	0.0	0.0	XC 🐧	0.0	8.8	48.60	0.85 41.310	
Interstellar <sup>1</sup> Hope, Frances	NR-B	Drsg 🐧	36.900	XC 🐧	0.0	0.0	Stad 6	12.0 🐧	0.0	<b>1</b> 48.90	0.95 46.455	
Spirits Legacy  Perkins, Alyssa	BNR-B	Drsg 🐧	60 600	XC 0	RF 🐧	RF	Stad 6				0.99 1000.000	
Ultraviolence 6		5.5g	55.500	,,,,			O.u.u				5.55 1500.000	
USC-AIKEN PACERS ON THE PR		D., A	22.400	0	0.0	0.0.6	vo 🐧	0.0	0.0	22.42	0.00.20.700	123.790 18
Shinn. Sydney	OT	Drsa 🐧	33.100	Stad 🔨	0.0	0.0	XC 🐧	0.0	0.0	33.10	0.90 29.790	

Blissful Change 6	0.	Diog	00.100	Olda	0.0	0.0	,,,,	0.0	0.0	35.10	0.00 20.700	
Brady-Owen, Sophia Overlay	START-C	Drsg 🐧	33.700	Stad 6	4.0 🐧	0.0	XC 🐧	0.0	0.0	37.70	1.00 37.700	
Knotts, Maggie	START-B	Drsg 🐧	36.300	Stad <sup>1</sup>	0.0	0.0	XC 🐧	20.0 🐧	0.0	56.30	1.00 56.300	
Zans O Lynx 🐧												
UNIV. OF KENTUCKY GROVE ST												127.110 19
Winter, Eleanor  Mosstown Rebel	TR-C	Drsg 1	32.100	Stad 6	4.0 🐧	0.0	XC 🐧	0.0	0.0	36.10	0.90 32.490	
Over, Rachel	ON-A	Drsg 🐧	36.700	XC 🐧	0.0	2.4	Stad 🟮	0.0	0.0	39.10	0.95 37.145	
Of Wind N Sky FSF <sup>1</sup> Whitman, Emily	NR-B	Drsg 1	52.500	XC 🐧	0.0	0.0	Stad 6	8.0 📵	0.0	60.50	0.95 57.475	
Nobody's Fool 19	IVIV-D							0.0	0.0	00.50		
Donnelly, Miranda Luv The Diamond   1	NR-D	Drsg 🐧	37.500	XC 🐧	RF 🐧	RF	Stad 6				0.95 1000.000	
AUBURN UNIVERSITY BLUE												127.607 20
Stroh, Dorothy	BNR-A	Drsg 🐧	32.800	XC 🐧	0.0	0.0	Stad 6	0.0	0.0	<b>3</b> 2.80	0.99 32.472	127.007 20
Balou Z 1	OTABLE	D A	25.000	0 6	0.0	0.0.0	vo 🐧	0.0		25.00	4.00.05.000	
Purdy, Caroline Upside Down & Backwards   1	START-B	Drsg 🐧	35.000	Stad 🔨	0.0	0.0	XC 🐧	0.0	0.0	35.00	1.00 35.000	
Dreaden, Ella	NR-B	Drsg 🐧	43.300	XC 🐧	20.0 🗓	0.0	Stad 1	0.0	0.0	63.30	0.95 60.135	
Marco Polo  Hammann, Taylor	START-B	Drsg 6	35.000	Stad 6	0.0	0.0	XC 🐧	20.0 📵	5.2	60.20	1.00 60.200	
Midnight Curfew 1												
UNIV. OF KENTUCKY CATS BY 9	-											128.841 21
Ertl, Sarah Redwood Quality 1	OM	Drsg 🐧	32.100	Stad 0	0.0	0.0	XC 🐧	0.0	7.2	39.30	0.85 33.405	
Gamlin, Claire	OBN-B	Drsg 6	40.900	XC 🐧	0.0	3.6	Stad 6	0.0	0.0	<b>1</b> 44.50	0.99 44.055	
Rebelliously 6	DND A	D (1)	24.000	vo fi	20.0	40.0	Stad 0	0.0	0.0	<b>6</b> 54 00	0.99 51.381	
Bates, Courtni Zenith Diamond 1	BNR-A	Drsg 1	21.900	XC 🐧	20.0	10.0	Stad	0.0	0.0	51.90	0.99 51.361	
Ryan, Ajay	NR-C	Drsg 🐧	30.000	XC 🐧	20.0 🐧	3.2	Stad 0	4.0 🟮	0.0	57.20	0.95 54.340	
Master Machiavelli 1												400.050.00
UNIV. OF SOUTH CAROLINA Miller, Kiersten	OM	Drsg 6	31.400	Stad 6	0.0	0.0 🐧	XC 🟮	0.0	4.8	36.20	0.85 30.770	129.059 22
Mama Mia <sup>1</sup>	OW		31.400		0.0	0.0		0.0	4.0	30.20	0.05 50.770	
Hoge, Riley Mighty Mouse   1	BNR-B	Drsg 🔨	48.100	XC 🐧	0.0	0.0	Stad <sup>1</sup>	0.0	0.0	<b>1</b> 48.10	0.99 47.619	
Eaves, Kendall	TR-B	Drsg 6	39.100	Stad 0	4.0 🐧	0.0	XC 🐧	0.0	13.2	56.30	0.90 50.670	
Ready&Waiting 1												
UNIV. OF KENTUCKY WILLY T										A		130.635 23
Scott, Kimberly Mile High Murphy	NR-D	Drsg 6	32.200	XC 0	0.0	0.0	Stad 0	0.0	0.0	32.20	0.95 30.590	
Nelson, Emily	BNR-B	Drsg 🐧	40.300	XC 🐧	0.0	9.2	Stad 🤨	0.0	0.0	<b>1</b> 49.50	0.99 49.005	
Tall Boy Brew 10 Dilger, Grace	PR	Drsg 1	42.600	Stad 0	8.0 🐧	2.4 🐧	XC 🙃	0.0	10.8	63.80	0.80 51.040	
Whole Nine Yards 1												
Appel, Morgan Pimm's Cup   1	NR-D	Drsg 🤨	35.600	XC 🐧	20.0 🐧	3.6	Stad 6	0.0	0.0	59.20	0.95 56.240	
OTTERBEIN UNIVERSITY												132.230 24
Smith, Sydney	START-C	Drsg 🙃	38.700	Stad 0	0.0	0.0	XC 🐧	0.0	0.0	38.70	1.00 38.700	102.200 2 1
Myers Wonder  Hartzler. Emma	ND D	Drsg 6	39.400	XC 🐧	0.0	0.0	Stad 0	4.0 🐧	0.0	<b>A</b> 42 40	0.95 41.230	
Southern Charm 6	NR-B	Drsg	39.400	XC •	0.0	0.0	Stad	4.0	0.0	43.40	0.95 41.230	
DiCesare, Juliana	START-B	Drsg 🐧	44.300	Stad 0	0.0	0.0	XC 🐧	0.0	8.0	52.30	1.00 52.300	
Fibonacci  Leibeck, Riley	OBN-B	Drsg 6		XC 🐧	Е	Е	Stad 6				0.99 1000.000	
Muffin 6												
UNIVERSITY OF FLORIDA BLUE		_		_								133.502 25
Johnson, Lilly Charge The Harbor   1	START-B	Drsg 🔨	36.000	Stad 0	0.0	0.0	XC 🙃	0.0	0.0	36.00	1.00 36.000	
Albury, Ryley	START-D	Drsg 6	38.300	Stad 6	0.0	0.0	XC 🐧	0.0	0.0	38.30	1.00 38.300	
Ferngully 1	DND A	Drsg 6	35.000	XC 🐧	20.0 🐧	0.8	Stad 0	4.0 🐧	0.0	<b>1</b> 59.80	0.99 59.202	
Castanho, Beatriz  HSL Jack Daniels   1	BNR-A	Drsg	35.000	XC •	20.0	0.6	Stad	4.0	0.0	59.60	0.99 59.202	
Cook, Lillian	START-C	Drsg 🐧	41.000	Stad 0	0.0	0.0	XC 🐧	E 🐧	Е		1.00 1000.000	
RANDOLPH-MACON BUZZ												141.091 26
Gorham, Grace	START-B	Drsg 🐧	31.300	Stad 6	0.0	0.0 🐧	XC 🙃	0.0	0.0	31.30	1.00 31.300	141.091.20
Amarillo 6												
Aubel, Vivian Upper Crown   1	BNR-B	Drsg 🐧	41.600	XC 🐧	0.0	2.8	Stad <sup>1</sup>	4.0 🐧	0.0	<b>1</b> 48.40	0.99 47.916	
Skelton, Emma	BNR-B	Drsg 6	42.500	XC 🐧	20.0 🐧	0.0	Stad 6	0.0	0.0	62.50	0.99 61.875	
imperial jaguar 6		_				_						
Wenner, Rebecca Undisputed Champ   1	NR-C	Drsg <sup>1</sup>	35.600	XC 🐧	R 🔨	R	Stad 6				0.95 1000.000	
UNIVERSITY OF VIRGINIA												147.995 27
Hill, Lauren	NR-C	Drsg 🐧	36.100	XC 🐧	0.0	0.0	Stad 🔨	0.0	0.0	36.10	0.95 34.295	
Hill, Lauren  Cooley High Water   Loughnane, Megan	NR-C OP	Drsg 0	36.100 41.200	XC <b>3</b>	0.0 8.0 <b>1</b>	0.0 3.2 <b>1</b>	Stad <b>1</b>	0.0	7.6		0.95 34.295 0.80 48.000	

Lynton U Hale, Morgan Maximo 0	START-B	Drsg 6	37.300	Stad 0	4.0 🐧	2.0 🐧	XC 🐧	20.0 🐧	2.4	65.70	1.00 65.700	
AUBURN UNIVERSITY JUNGLE												153.300 28
Bowers, Samantha Natia	START-D	Drsg 6	36.300	Stad 6	0.0	0.0	XC 🐧	0.0	0.0	36.30	1.00 36.300	
Stroh, Dorothy	START-C	Drsg 🐧	39.300	Stad 6	4.0 🐧	0.0	XC 🐧	0.0	0.0	43.30	1.00 43.300	
Ruby Slippers  Faulkner, Chloe	START-C	Drsg 🐧	33.700	Stad <sup>1</sup>	0.0	0.0	XC 🐧	40.0 🐧	0.0	73.70	1.00 73.700	
Sir Noble Knight 6		_										
Arnold, Ava Jordan's Way 1	START-C	Drsg 6	34.000	Stad <sup>1</sup>	8.0 🐧	0.0	XC 🐧	60.0 🤨	10.0	112.00	1.00 112.000	
UNIV. OF KENTUCKY COACH ST	OOPS											165.005 29
Hall, Lauren	NR-C	Drsg 6	33.100	XC 🐧	0.0	0.0	Stad 6	0.0	0.0	33.10	0.95 31.445	.00.00020
Gonnaneedabiggerboat 1	TD 4		42.000	0	8.0 🙃	0.0	XC 🐧	0.0	2.2	54.00	0.00.40.220	
McGown, Kate Curious George   1	TR-A	Drsg 🐧	43.600	Stad 0	8.0	0.0	XC •	0.0	3.2	54.80	0.90 49.320	
Robinson, Payton	TR-B	Drsg 🐧	36.400	Stad 0	0.0	0.0	XC 🐧	40.0 🗓	17.2	93.60	0.90 84.240	
Loughnatousa Spirit  UNIV. OF GEORGIA BIG DAWGS												176.772 30
Lane, Ella Kay	PR	Drsg 6	34.100	Stad 6	0.0	0.0	XC 🐧	0.0	6.4	40.50	0.80 32.400	170.77230
Double Dare 1	TIX		34.100		0.0	0.0		0.0			0.00 32.400	
Braun, Nina Celeste	NR-C	Drsg 🗓	33.100	XC 🐧	20.0 🔨	20.4	Stad 0	0.0	0.0	73.50	0.95 69.825	
Lagoon Macaroon  Smith, Bennett Tabula Rasa	BNR-A	Drsg 🐧	46.900	XC 🐧	20.0	4.4	Stad 🔨	4.0 🐧	0.0	75.30	0.99 74.547	
Bright, Jennifer	NR-C	Drsg 🐧	38.300	XC 🐧	RF 🗓	RF	Stad 6				0.95 1000.000	
Knight in Shining Armor 6												
TRANSYLVANIA UNIVERSITY							_					1069.454 31
Callahan, Lily Royal Crest's Granite Permission   1	ON-A	Drsg 1	30.800	XC 🐧	0.0	0.0	Stad <sup>1</sup>	0.0	0.0	30.80	0.95 29.260	
Howell, Elizabeta  Promised 1	OBN-B	Drsg 🐧	36.600	XC 🐧	0.0	0.0	Stad 6	4.0 🐧	0.0	40.60	0.99 40.194	
Kottra, Katrina Felicity Doll   1	NR-B	Drsg 🐧	36.900	XC 🐧	RF 🐧	RF	Stad 0				0.95 1000.000	
Miller, Kiersten Rosconnell Alto	OI	Drsg 🐧	33.200	Stad 0	8.0 🐧	0.8 🐧	XC 🐧	RF 🐧	RF		0.75 1000.000	
UNIV. OF KENTUCKY COACH PO	)PE											1082.269 32
Eisemann, Danielle Diamond Cut 1	BNR-B	Drsg 🐧	38.100	XC 🐧	0.0	0.0	Stad 0	0.0	0.0	38.10	0.99 37.719	
Delahanty, Kiera BGS Silver Lining <sup>1</sup>	ОТ	Drsg 6	31.900	Stad <sup>1</sup>	12.0 🐧	5.6 🐧	XC 🐧	0.0	0.0	49.50	0.90 44.550	
Otipoby, Ali Mighty Mouse <sup>1</sup>	TR-B	Drsg 1	45.200	Stad 0	4.0 1	0.0	XC 🐧	E 0	Е		0.90 1000.000	
RANDOLPH-MACON / UVA / NC S	STATE											1087.825 33
Dal Cin, Lily	OM	Drsg 🗓	33.800	Stad 0	4.0 🐧	0.0	XC 🐧	0.0	7.2	45.00	0.85 38.250	
FE Bobby Dazzler 10 Loughnane, Megan	OI	Drsg 6	45.700	Stad 6	0.0	0.0	XC 🕄	0.0	20.4	66.10	0.75 49.575	
Flamenco Ping 🐧												
Kennedy, Jacqueline  Always Drama   O	START-C	Drsg <sup>1</sup>	40.300	Stad 0	0.0	0.0	XC 🐧	E 🐧	E		1.00 1000.000	
UNIV. OF KENTUCKY JOHN WAL	L											1115.839 34
Slavin, Lauren	OBN-B	Drsg 🔨	48.100	XC 🐧	0.0	8.0	Stad 🤨	0.0	0.0	56.10	0.99 55.539	
Sethary  Cornell, MaKenna	START-B	Drsg 6	40.300	Stad 6	0.0	0.0	XC 🐧	20.0 🐧	0.0	60.30	1.00 60.300	
Crimson Casanova 3								20.0	0.0			
Stacy, Cameron Kief Amazing Marco   1	ON-B	Drsg 🛂	32.500	XC 🐧	R 🐧	R	Stad 5				0.95 1000.000	
RANDOLPH-MACON YJ'S												1121.952 35
Farris, Charlotte	START-C	Drsg 6	34.000	Stad 🔨	4.0 🐧	0.0	XC 🙃	0.0	0.0	38.00	1.00 38.000	
End Run  Anderson, Emma	OBN-B	Drea fi	40.000	XC 🐧	20.0 🐧	0.0	Stad 6	12.0 🐧	12.8 f	84.80	0.99 83.952	
Marcel the Shell 5	ODIV-D	Disg	40.000	XC •	20.0	0.0	Stati		12.0	04.00	0.55 05.552	
Bennett, Casey Spirit 1	START-C	Drsg 6	41.000	Stad 6	0.0	0.0	XC 🐧	E 🐧	Е		1.00 1000.000	
FLORIDA STATE / UNIV. OF FLOR	RIDA											1180.500 36
Schram, Kani	NR-B	Drsg 6	37.800	XC 🐧	20.0 🐧	0.0	Stad 6	0.0	0.0	57.80	0.95 54.910	
Keen on Diamonds <sup>1</sup> Walter, Lucy	NR-C	Drsg 6	35.800	XC 🐧	80.0	0.4	Stad 6	16.0 🐧	0.0	132.20	0.95 125.590	
Bold Colors 1 Joyal, Emma	NR-D	Drsg 6	27.200	XC 🐧	E 6	Е	Stad 6				0.95 1000.000	
Chilly Bon Bon 5 Scholtz, Janna	PR	Drsg 6	45.700	Stad 6	8.0 🐧	4.4 1	XC 🐧	W	W		0.80 1000.000	
Fernhill Locklann 0												005
UNIV. TENNESSEE-KNOXVILLE		D A	27.000	V0 <b>6</b>	0.0	0.0	01. 1.6	0.0	0.0.6	27.00	0.05.20.440	2026.410 37
Craven, Diana Fernhill St.Nick	ON-A	Drsg 0	27.800	XC 🐧	0.0	0.0	Stad 6	0.0	0.0	27.80	0.95 26.410	
Golias, Riley	TR-B	Drsg 🐧	37.600	Stad 6	16.0 🤨	12.0 🐧	XC 🙃	E 🟮	Е		0.90 1000.000	
Mobleys Way 1 Muntz, Livy	PR	Drsq 6	41.200	Stad 6	CR <sup>1</sup>	CR	XC 🐧				0.80 1000.000	

FGF DollarsforPennies 6		Diog	71.200	-		٠					0.00 1000.000	
Smith, Sarah Cardinal North Star <sup>1</sup>	START-C	Drsg 🐧	36.700	Stad 6	4.0 🐧	0.0	XC 🐧	E <b>6</b>	Е		1.00 1000.000	
UNIV. TENNESSEE-KNOXVILLE WHITE												
Senogles, Meriah Dontmesawithsister 1	START-B	Drsg 0	37.300	Stad <sup>1</sup>	0.0	0.0	XC 🐧	0.0	0.0	37.30	1.00 37.300	
Borden, Elizabeth  Dynamaker	NR-D	Drsg 6	38.300	XC 🐧	RF 0	RF	Stad 6				0.95 1000.000	
Golias, Riley Lottie Da   O	START-C	Drsg 6	41.700	Stad <sup>1</sup>	W	W	XC 🟮				1.00 1000.000	
Moore, Emily Rocky 1	START-B	Drsg 6	41.300	Stad 6	E 😉	Е	XC 🐧				1.00 1000.000	
RANDOLPH-MACON YELLOW												65.740 E
Fugate, Julia Quite Frankly <sup>1</sup>	NR-C	Drsg 0	33.900	XC 🐧	0.0	0.0	Stad 0	0.0	0.0	33.90	0.95 32.205	
Brandt, Hannah Fernhill Emerald 1	ON-B	Drsg 6	35.300	XC 🐧	0.0	0.0	Stad <sup>1</sup>	0.0	0.0 🐧	35.30	0.95 33.535	